//\@? Addieren - subtrahieren

A= 358402 = N2*3 =
A0 = 3o8%2 = M2*33 =
A0 = 3o8+022= N2E0B=
AN = 358+222= M2+003=
A0 = 3o8+002= 23032
AN = 358422 = M24333=
0-01 = 100-99 = 005 =
o=t = 100-099=" 00
o-Am s 100-909=" . 705 =
0=t 100-05 = 07055
0-01 = 100-999=" S
0-00= 100-999=" 07535
P HAS = 342+432= 085+AT5=
22 +085= VS35 = 87 A8 2
R A85-33 = 05%22 =
2BH6A = 22 =125 = 0596 =
85 —425= 235 -295= 235722
A IS = MBS 02 =3k
99 -22 = 145 -0,6 = 6,25 - 0,55 =

585-39 =

05 +56

39 +335

955+18 =

1,65 + 3,65

435-4,3

775 +335 =
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1km
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Tm
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1cm
1cm

1cm

1kg
1kg

1kg

1t
1t

1t

101t
101t

101t

+

100 m
10 m

1m

100 mm
10 mm

1mm

100 mm
10 mm

1 mm

100 g
10¢g

1g

100 kg
10 kg

1kg

100 kg
10 kg

1kg

km
km

km

cm
cm

cm

kg

kg

Tm
Tm

Tm

1dm

1dm

1dm

0,1 km

0,01 km

0,001 km

1g
1g

1g

01 kg
01 kg

01kg

0,001g

0,001 g

0,001g

+

+

+

+

100 cm = m
10cm = m
1cm = m
100cm = dm
10cm = dm

1cm = dm
M0Om = m
M0Om = m
M0Om = m

100 mg = g
10mg = g
1mg = g
100g = kg
10g = kg
1g = kg
100 mg = g
10 mg = g
Tmg = g
Blatt 2/5
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1hl + 1001 = hi 11 + 100ml = I
1hl + 101 = hi 11 + 10ml = I
1hl + 11 = hi 11 + Tml = I
1dl + 100cl = dl 1,01hl + 100 | = hi
1dl + 10cl = dl 1,00hl + 101 = hi
1dl +  1c = dl 1,01hl + 11 = hi
0,001 + 100ml = | 1hl + 11 = hi
00011 + 10ml = | 01hl + 11 = hi
00011 + 1Tml = | 001hl + 11 = hi
1hl - 11 = hi 11 - Tml = I
1hl - 101 = hi 11 - 10ml = I
1hl - 100 = hi 11 - 100ml = I
M0m - 100cm = m 1kg - 100g = kg
M0Om - 10cm = m 1kg - 10g = kg
M0Om - 1cm = m 1kg - 1g = kg
01km - 10m = km 11 - Tcl = I
1km - 10m = km 011 - 1cl = I
Mkm - 10m = km 0,011 - Tcl = I
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03kg + 35g =
33t +350kg =

33g + 333mg

3kg + 33g =
03t + 300kg =
03g + 33mg =

55h1 + 51 R
51+ SAdl =
>cd + 05d =
S00ml + 551 =
5,5| * 55dl e
0'5d| * 55d e
e50ml - 65ml = .
1’3t + 450 kg e
O6g - 6Omg = .
6dl - 03dl =

360 mm + 660 mm

160mg + 45¢g

570 mm - 390 mm =

084t - 40kg =
15kg + 150g =

740 kg + 570 kg

hi

dl

dl

kg

0,2km +

20cm +

2dm +

20km +

22 m

350 m

850 m

50 |

098t

|+

55 Rp. +

420 kg

2dl

80m

085t

155 g

2 hl

2 hl

160 g

+

2dm +

801

200m =

02m =

2,2cm

2,2 cm

2,02 km

4g =

270 m

620 ml =

151 =

1M0kg =

30 Rp. =

280 kg =

19d =

80cm =

250kg =

M0 g

25 | =

M0 ¢

23 cm

0,3 hl
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km

cm

dm

km

km

hi

Fr.

kg

hi

hi

kg
dm

hl



035m + 5cm =

AA0 mm - 50 mm =
5550 kg - 0,05t =
04t - 30kg =

600g + 450g =

450 ml + 460 ml =

4dm - 15cm =

9%5m + 95dm =

450 kg + 700kg =

9mm+ 29cm =

60g - 60mg =

240 ml 5c¢ =

4dm - 21cm =

045¢g 45 mg =

21 - 2d =

15 Fr. 15 Rp. =

40g + 40mg =

1000t - 100kg =

28hl + 281 =

200kg + 12t =

400m + 0,5km

kg

dm

cm

cl

dm

Fr.

hi

km

5¢cm - 04dm =
¥km +1900m -
80g o+ 840g =
25¢em +  25mm=

550 mg - 480 mg

11 - 4dl =

07km - 350m =

045m + 45m =

371 + 771 e
3B80kg + 830kg =
460mm - 280mm=
>/m +  5dm =
650ml + 6l0ml =
Adm - 25em =
6m + emm=
O4g + 40mg=
30mm - A5em =
220kg + 08t =

051 - 2dl =

7¢ + 50mg

20 | - 2dl =
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